What is the job of the stomata? These allow carbon dioxide into
the plant cell.

What is the organic farming Biological control.
alternative to pesticide usage?

Why does a plant convert glucose (product ' [t can be stored more easily and
of photosynthesis) into starch? . . . .
P Y ) it will not dissolve in water.

Why does a plant have a thick To prevent water loss.
waxy cuticle?

Why do plant cells have a To allow,light10 p\a)s\s(through it

\&

transparent epidermis? N O{@S@ get to the cells.




